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Solve the following word problems.

At a Christmas party, 14 girls are dressed in red, while 6 girls are dressed
in white. How many more girls are dressed in red than white?

Tammy invites 10 girls and 4 boys to her house for hot apple cider. There
are fewer boys than girls at her house, by how many?

Danny leaves his house to sing Christmas carols at 6:00. If his mom tells
him come home in 3 hours, what time will Danny have to be home?

Marla counts 18 houses with Christmas lights in her neighborhood. Tina
counts 12 lighted houses in her own neighborhood. How many houses
with lights do the girls count all together?

In a class of 22 kids, half of the kids plan to attend a Christmas party.
How many kids are going to a party?
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